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e GRS
20 |82 B g () Sh 0.5 X CH:COOCH(CH:)CH (CHs )2 125|665 I ——
21 |%%(a—EFrK) CioH:NHCSNH: 0.3 £ Col:NH: 2 7.6 5P 7
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22 |7 R £ 5 (R As 0.5 TF R (A HEHRS) CH;OCHNH: 0.1 0.5
23 | g AsHs 0. 05]0. 16 W2 H L () Sb 0.5
24 | CioH12Ns0sPS2 0.2 %L (a—Frk) CioH:NHCSNH: 0.3
20 (g2 ATRErEF(UET) Ba 0.5 LR S AL A CR ik As 0.01
26 |3 ¥k (CsHiC0):0: 5 F AR L (Rt) As 0.5
21 |#F -7 &A% CsHsCH:C1 1(5.2 R & AsHs 0.05 [0.16
28 (=¥ CollsCslls 0.2[1.3 2% [ (CHs ) - NCs He - CNH

29 |z i BBrs 1{10 & P Ciol12Ns0sPS2 0.2
30 [z & i BFs 1{2.8 B2 HF ML (E) Ba 0.5
31 | Br 0.1{0. 66 B CoHls 1 3.2
32 |T 4 i BrFs 0.1{0.72 o F s B 4p NHz(CsHa)NHo

33 |= Tk CHBrs 0.5[5.2 Wi FE (CsHaCO):202 5

34 |7 = CHsCH=CH=CH: 800(1, 900 FioTAF CeHsCH:C1 1 5.2
35 |1—"7 Frps CHsSH 0.5[1.8 dz H i b p (i) Be 0.002
36 |1—7 f% CHs(CHz):0H 100{303 mE CoHsCells 0.2 1.3
37 [2—- @ CH:CHOHCH.CH: 150|454 e er CioHsN:

38 |oper oy CH:COOCHs 150{712 ERTRTP." BBrs 1 10
39 |e s - oA CH;COOCH(CHy) (C2Hs ) 200|950 Zifm BF: 1 2.8
40 | pa% =7 fig CHsCOOC(CHs)s 200{950 e Br: 0.1 0. 66
41 |% =" pg (CHs)sCOH 100(303 I & i BrFs 0.1 0.72
42 |7 = CaHsNHe 515 RN R CHBrs 0.5 5.2
43 | &7 Adpky il CHs(CHz2):0CH-CHCH=0 25133 1-3—"-% CHe=CHCH=CH. 5 22
44 |F*E T fig CHsCHOHCOOCHs 530 TR CHsCH-CH=CHs 800 1900
45 |B—% - 7 s CH:CH:CH(CHs)CsH.OH 5/31 1—"7p% CaHsSH 0.5 1.8
46 [H—%="7 A" F (CHs)sCCsHiCHs 10(61 1—~p% CHs(CHz):0H 100 303
47 |mpeds Cas(ASO.): 1 2—" CH;CHOHCH:CH: 150  |454
48 | § it dr CaNCN 0.5 LT T fig CHsCOOC:Hs 150 712
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49 |&§ 4t Ca(OH): 5 CH:COOCH(CH:)

RN 200|950
50 |§ i4n Ca0 5 (CH:)
51 |& %4 Culli0 2|12 L EEZ R CH:CO0C(CHy )s 200|950
52 |e popse(E ) CH(CH:)NHCO 1 %z (CHy):COH 100|303
53 |° papE(EF) CH.(CH.).NHCO 5(23 - CAHaNH 5 15
54 |4 A Cul{O0CNHCH: 5 B A%k CH:(CH.):0CH:CH CH0 25  |133
55 [4c oft CicHisNOs 0.1 FRED CH:CHOHCOOC s 5 30
56 |2 C 3.5 B—%-om CH:CH:CH(CH; ) CsHiOH 5 31
57 |- § nm Co: 5, 0009, 000 HoFz AT F (CH:):CCaHCH: 10 |61
58 |- meiat cs: 1031 R H L () cd 0.05
59 |- § at o 35(40 4T Cas(As0)): 1
60 |&§ 14 CsOH 2 §omitgr CaNCN 0.5
61 |42 CollCls 0.5 i Ca(OH): 5
62 |[§1d-% CeHCLO 0.5 § 4w Ca0 5
63 |4 Cl. 0.5[1.5 £ R Culli0 2 12
64 |- F % C10: 0.1[0. 28 e PR &) CH:(CH2).NHCO 1
65 =4 & CIF: 0.1[0. 38 e P AREGEF) CH:(CH2).NHCO 5 23
66 |- # 2% CICHCHO 1/3.2 4o )] Cuol:O0CNHCH: 5
67 [a—¥5ci (w—F&cm) CoH:COCH:C1 0.05/0. 32 Celis

de g 0.1
68 |4 ¢ fied CH:C1C0C] 0.05/0. 23 NO:
69 |4 % CiliCl 75(345 I8 C 3.5
70 [F 0 BrCHC1 200[1, 060 § R Co: 5000 {9000
7 2—%—1,3—" =% H.C=CCLCH=CH. 10/36 By cs: 10 |31
2 |F- i CHCIF: 1,000[3, 540 - § €0 35 |40
73 |5 CH:CHC1 1,000(2, 640 ® g R CCLy 2 13
42— F e CICH.CH.OH 1/3.3 iy CsOH 2
5 o|-F 0 CICHOCHCI 0.001|0. 0047 §e ColliCls 0.5
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I—1—1—#AF =% CsHeC1NO: 10 FirF-F CizHiC1s0
ERE CC1FCFs 6, 320 F Cle 0.5
FirE (387 = CC1sNO: 0.67 -5t % C10: 0.1
B—% ¥ C1CsHsCH=CH: 283 Z & F ClFs 0.1
M—FTF C1CsHiCHs 259 - &L C1CH-CHO 1
A (11483) Cr 1 a—%%cefp (0—F& L) CsHsCOCH:C1 0.05
82 |- Masit & (rudsst Cr 0.5 ¥ COfpE CH:C1COC1 0.05
83 |z igsit &4 (14E3h Cr 0.5 i F CellsC1 5
84 | R EMEFLE S 0.2 PEN T BrCH:C1 200
80 |4 > £BWEE B A (&) Co/Co0/Co202/Coz0s 0.05 2—%—1°3—"=% H:C=CCLCH=CH: 10
86 | EYpikicdr 0.15 Fo4 7% CHCIF- 1000
87 |4 > %@L Cu/Cu=0/Cu0 0.2 Foiz CH;CH-C1 1000
88 |&F > A5 BfeFiF (r2dF3t) CuS0:. 5H:0/CuCl 1 2—% ¢ pR C1CH:CH-0H 1
89 |# A& 0.2 - F TR C1CH:0CH:Cl 0.001
90 | =@ CHsCH=CHCHO 9.7 AT AW C1CH-0CHs
91 [Ep ¥ CoHsCH(CHs )2 246 1-F—-1-#HAp= CsHsCINO: 2
92 |7 p (e4457 2HF) CHsCeH«OH 22 Fiaco= CCIF:CFs 1000
93 |§'=(Fm3E) H:.NCN 2 FitE (07 %) CC1sNO: 0.1
94 |§ 4 (1 FA33) CN 5 H—% ¥ 5 CLCsH>CH=CH= 50
95 |F = CeHiiNHe 41 HM—F " F C1CH{CHs 50
96 |ke = Collie 1,030 B (g Cr
97 %= B CoH11OH 206 S AT S (0143 Cr0, Cr:0:, CrOs
98 |®: CsH1oCO 100 - g B g (11453) Cr
99 [L3—F&A % CsHs 203 Z R ES (E3) Cr
100 |3 ~ = CsHlo 1,720 HENRTEE S
10112,4—% (2,4—= % ¥ C1:CsHs0CH-COOH 10 bt BIREEE B A (114R3) Co/Co0/Co202/Coz04
102 |-+ Fez BioHus 0.25 R AT
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LEEN CoHs0iPS: 0.01{0. 11 i BT Cu/Cu0/Cu0 0.2
Z AR (CH:)-C(OH) CH:COCH: 50/238 WP R EE () CuSOs. 5H:0/CuCl |
BRI [ (CH:)-CHCNH(CH:)0JPS(OCAH: - 0.01 A 0.2
£ 0 CILN. 0.2/0.34 v B CHCH=CHCHO 2 5.7
Epea Bl 0.1[0.11 BA¥ CoH:CH(CH:): 50 |26
B A (CiH:0):POOH 1/8.6 o (#4500 B CH.CH.OH 5 22
R T Colli(COOCH )2 5 o (§ad) HNCN 2
SFew Ll 0.1[0.39 Fig (1F ) N 5
R CHCLe 50(301 B o ColtuNI: 0 |4
- F ¥ CHCLe 75|450 B s Clfie 300 |1030
EF RS CCLF 1,000/4, 950 ®e Clf 01 50 [206
1,3—= § —5,5—- 7 e pfgsk |GHCLNO: 0.2 e CHuCO 25 |100
L1—-§e= CHCHCI. 100]405 13—k~ Clls 75 |203
1,2—= § ¢ % C1CH=CHCI 200(793 A Gt 600 |1720
SEem (C1CH.CH.):0 5|29 2 4% (2 4—-F¥§ep)  |CLGHOCHCOOH 10
T CHCL.F 10[42 Sy Buoflu 0.05 0.25
L1—-§ —1—-fge = HCC(C1):NO: 2|12 TR Calls0:PS: 0.01 |0.11
L2—- &% CHCHCICHCI 75(347 Z (CH)-CCOH)CH:COCH: 50 |238
13— &7 % CHCICHCHCI 114.5 < Al [ (CHy)-CHCNH(CH: )0 JPS(OC:H: ): 0.01
2.0- - F M CH:CC1:CO0H 105.8 £5 7% CILN. 0.2 [0.34
Howi-fon CCIFACCIF: 1,000}6, 990 Epo BMls 0.1 o.11
b (CH:0):P(0)0C(CH:)=CHC(0)N(CH: ) 0.25 RS 7 (CH:0)-POOH 1 8.6
EELEE. Culte 5|27 e Colli(COOCH )2 5
126|= @ gy (HOCH.CH.):NH 3|13 ST F ABY s 4 AN (Colts(NH)OCH: -
127 |- e (CH)NH 10[30 SEew Ll 0.1 0.39
128(2-= @ sfhe (CMe)-NCH.CHOH 10(48 B F ¥ CliCle 50 |301
129|- st e gz NHC:HNHC:HNH. 104.2 - ¥ CliCle 75 |450

—
[o)}




= e C-H:COC=Hs 705 3,3 —- Fmyrez Ay (CsHsC1:NH2)»

131 |- o s e CH(CO.CHy): 5 SE-ivn CCLF. 4950
132]- b £ 0 = CFBr 858 1°3—-§-5-5—=-7s2pm@k |CGHCLNO. 0.2
133 |57k 4 b pe OCH:CHCH-0CH-CHCH=0 0.53 1 1—=4#2e= CH:CHC1 405
134]- 2 (CiHo):CO 145 1:2--§e% CHCICHCI 40
135|= 2 p = [ (CH:)-CH]-NH 21 1 2—=-4%2¢% C1CH=CHC1 793
136 [NNN—2= 7 Az mprse CH:CON(CHs)2 36 g (C1CH:CH=):0 29
137|= @ = (CHs)-NH 18 —F"% CH:.Cl: 174
138 [NNN—= 7 A e CsH:N(CHs)2 25 ZFET CHCL.F 42
139 (= & & (CHs):PO:CH=CC1- 1 1>1—=-%—-1 H:CC(C1)2NO= 12
140 [NNN—2= @ A ® fre HCON(CHs): 30 1 2—-#p= CHsCHC1CH:C1 347
141 (MR8¥ - " - ¥ fy CsHs(COOCHs )2 5 1 3—=4pY% CHC1CHCH:C1 4.5
142 |Frpa= @ fi (CHs)=S0: 0.52 22— FpR CH:CC1:COOH 5.8
143 |- A AF (7 2 H4) Cells(NO:)- 1 H-ri-_z2% CC1F-CCiF: 6990
4|z A —a8—7 ps CHsCsH2(NO2)-0H 0.2 B (CH:0):P(0)OC(CH2)=CHC(0)N(CH:)- 0.25
45|/ A" ¥ CoH:CHs(NO2)- 1.5 kA CuoHrz 27
146 [#5—F = 7 pe- 2 fiq CoHa(COOCsHir)2 5 PER CizHsC160

47|, 4— - § R (CHD:0: 90 o e (HOCH:CH. ):NH 13
148 [~ str CiHs02[ SPSCOC:Hs )2 ]2 0.2 - LR (C:Hs):NH 30
149 |- ¥= (CsHs)=NH 10 2-- v kil g (CeHs):NCH.CH-0H 48
150 (= f = s @ At CHs0CsHsOCsHsOH 606 Ze gzom NHeC.H«NHC-H.NH: 4.2
151 |= p & pw (CH:CH=CH:)=CO 233 - R C-H:COC:Hs 705
152 | = Fefr (C2H50)2P(S)SCHCH-SCH-CHs 0.1 AFZ TR ¢y CoHa(COCalls )2 5
153|= e % ¥ CoHi(CHCHz)2 53 b N S CF2Br 858
154 |% 4 CoHeC160sS 0.1 HarkH e pL OCH-CHCH-0CH-CHCH=0 0.53
155 |- & CsHlsP(C:Hs0) (S)OCsH:NO: 0.5 B Ny (Ci Hy) -CO 145
156 | & 2 OCH.CHCHC1 7.6 ER R [ (CH):CH]NH 21
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157[1,2—k§ /% OCH.CHCH: 20(48 N> N—=- 7 e s CH.CON(CH:): 10 |36
2,3— k¥ i CH:OHCHCH.0 25(76 B (CH)NH 10 |18
o g r NH.CH.CH.OH 3|7.5 N> N—-©° ¥ CHN(CH: ) 5 25
160 | % [(CH:0):P(S)S]:CH. 0.4 B (CH:)-POCH=CC. 0.1 |1
161 |2 »= CHNE: 10[18 N> N—z 7 A" g HCON(CH: ) 10 |30
162 | e fe f CH:COOC:H; 400[1, 440 RE- VRS Y CiH:(COOCH: ) 5
163 | % pee CH.=CHCOOC:H: 25(102 RS A (CH»)-801 0.1 [0.52
164 | CHOH 1,000(1, 880 HAE(E B P CaHi(NOL): 0.15 |1
165 [c ~ CH:CH.CH(CH:) CH.COCH.CH; 25(131 CHA-E—TE CHCoH-(NO2):0H 0.2
166 |5 o =2 CHiBr 200(892 BT CoHCH:(NO ) 1.5
167 |2 = @ CHs(CH2)sCOCH:CH: 50(234 MU 3 0-CH(COOCHin): 5
168 | & e (CH:):0 400[1, 210 1 4—-§5®m (CH:0: 25 (90
169[e = 5 (¥ 2 = a) NH.CH.CH.NH. 10[25 SR CHO.[ SPSCOCH: ): ] 0.2
170 | = e 2 CHiBre 20(154 L (CoHl):NH 10
171 |2 = % (HiF) CH.OHCH.OH 10 B Lh CH:0C:HOC:H:OH 100 606
172|e = @ (EF) CH.OHCH.OH 50(127 gL (CH:CH:CH.)-CO 50 [233
173 | & 3% H-CNHCH. 0.5[0. 88 ZER (C:H:0):P(S)SCH-CH-SCH.CH: 0.1
174 |e = pi L CH.OHCH.OCHo 25(121 B A CoHi(CHCH): 10 |53
175|e = o pt CH:OHCH:OCH; 5|18 % # CHCL0:S 0.1
176 |2 = p o pp C.H:0CH.CH:COOCH: 5(27 EX 2 4 CelliC1:0
177|e = o At CH:OHCH:OCH; 5|16 - B CoP(C:H:0) (S)OCHNO: 0.5
178 |2 = 7 ° pepdpm CH:COOCH:CH-OCH: 5(24 B OCH:CHCH.C1 2 7.6
179|%5 ¢ = CHO 1/1.8 1 2-%fp% OCH:CHCH; 20 |48
180 |7 f e g HCOOC:H 100(303 2 3-%kifpMm CH:OHCHCH.0 25 |76
181 | Fopi CHSH 10[25 o g NH.CH.CH.OH 3 7.5
182(N—2 A —1,4— % § 2 W CH.CH-OCH.CH:NCH.CH: 5|24 & B [(CH:0):P($)S] CH: 0.4
183 |47 4> (CH:0):P($)0CHC15 10 o n CH:NH: 10 |18
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A|eefab & & 1 Lk i CH:COOC:H; 400 |1440
185 |4 1+ 4 (11 & 35) F 2.5 f R il CH:=CHCOOCH; 25 |102
186 |4 F. 1/1.6 ° CH:OH 1000 {1880
187 |& = § 94 CCLF 1,000(5, 620 ¢ A CH.CH.CH(CH:) CH:COCH:CH: 25 |13
188 | sz HCONH: 20|37 TR CH:Br 200|892
189 |7 m HCOOH 5/9.4 " CH:(CH2):COCH.CH: 50 |234
190 [r2va @ g CHOCHO 2|7.9 3 (CH:):0 400|210
191 |v+% @ 75 CHOCH:OH 10[40 e zam (e z ) NH.CH.CHNH. 10 |25
192 |57 300(890 TR CHiBr: 20 |154
193w & 4 Gells 0.2[0. 63 o @ (BF) CHOHCH:0H 10
194 |~ - OHC(CH. ):CHO 0.2[0. 82 e - mGEF) CHOHCH:0H 50 |127
195 | 2245 10 L H.CNHCH: 0.5 [0.88
196 |4 HE 0.5 o CH.OHCH-0CHo 25 121
197 | & i i ColiCl7 0.5 - e CH.OHCH-0C:H 5 18
198 | & = CH:(CH.)+CH 400{1, 640 © 2 R e AL C.H:0CH.CH.COOCH: 5 27
199 |+ & = = 4 C1:LCCICCICCL: 0.02/0. 21 LN CH:OHCH.0CHs 5 16
200 |+ # A % C:Cle 0.01{0. 11 © 2R AL CH:COOCH.CH.OCH: 5 24
201 |+ & ¢ C1.CCCLs 19.7 By CHO 1 1.8
202+ & ¥ CollCLs 0.2 " e HCOOC:H; 100|303
203 [ & [ o CF:COCF: 0.1[0. 68 o Fif CH:SH 10 |25
204 (- B F ke = OCN(CH:)iNCO 0. 005(0. 034 N—e¢f—1-4-—F§HKR CH:CH:OCH.CHNCH.CH: 5 24
205 |2 @ = CH:(CH) CHs 50{176 %7 4 (CHi0):P($)0CHC1s 10
206 |2 8 44 Cills 5001, 760 L & 1
207 |2 % - = CH:COOCsHs 50/295 £ (i) F 2.5
208(2— 7 H—2.4— - (CH)-COHCH. CHOHCH: 25(121 i F. 1 1.6
209 |t § HBr 319.9 R CCLF 1000|5620
210 (4 * & HC1 5|7.5 " HCONH: 20 |37
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211 |m= NH:NH HCHO 1.2
212§ & HCN HCOOH

213 |4 iv & HF C4H:0CHO

214 |85 & He0: CH:0CH:OH

215 |7 it & H:Se

216 [Frit & H=S GeHs

217 |4 g7 CoHi(OH): OHC(CH2):CHO
218 |4Fp H i & & (L4FE) In

219 |7 I Hf

220 |7 4k (1 483) Fe(C0)s Coll:Cl7

221 |5 i CEE) Fe0, Fei0s CHs(CHz)sCHs
222 |z AR Mg CHsCOO(CHz):CH(CHs )= CI.CCC1CC1CCI-
223 | # ~ % (CHs)-CHCH:CH:0H C:Cls

224 |e pad "~ g CH:COOCH:CHz(CHs )2 C1sCCCls

225 |8 7 m% (CHs)-CHCH:0H CioHeCls

226 | # * % CHisCH-0H CFsCOCFs

227 | & & Ak CoHu0 OCN(CH:)sNCO
228 |- R RMEAE M Ciolis(NCO)2 CHs(CHz)CHs
229|12— B pF e (CHs):CHOCH: CH:0H CeHia

230 |2 @B iy CH:COOCH(CHy): CH:COOCsHis
231 R o= (CHs)2CHNH: 2" A-2 44—~ - (CHs):COHCH: CHOHCHs
232 |3 B (CHs)CHOH HBr

233 |2 p ¥ CoHsNHCH(CH5)2 HC1

234 | & opL (CHs):CHOCH(CHs )2 NH2NH:

235 | & Adpkdwm CH(CHs)-0CH:CHCH-0 HCN

236 | ¢ 4 pb H:L=C=0 HF

237 | F# ik 41 Pbs(AsO:): H:0:




238 s s (114230) PbCrO: 0.05 g H:Se 0.05 0.16
239 | % Fr 0.2 Foi g 1S 10 |14
240 [ * 7 3 § LPG Cnlne(n=2~4) 1,000|1, 800 fo@ CoH:(OH): 2
241 |5 s Lilt 0. 025 P B8 g (L) In 0.1
242 |§ i 4 (46T) Mg0 10 @ I 0.1 |1
243 |5 44> CullsOPS: 10 TG T Fe(CO)s 0.1 0.23
244 | — = % = pF (CHCO):0 0.25|1 § R Fe0, Fe:0r 10
245 |4 » H'E (g Mn 1 LB A CH:COO(CH:)> CH(CH): 100 [532
246 452 H w1 £ B (1 AE) Mn 5 B A (CH»)-CHCH: CH:OH 100 (361
24T [ = 2 A~ R A (114 CHMn(CO)s 0.1 BTSN CH:COOCH:CH. (CHo): 150|713
248 |58 5 AR (CH»)-C=CHCOCHs 15(60 ERR (CH)-CHCHOH 50 [152
249 |° fp CH.=C(CH:)COOH 20(70 FREy CHCHOH 50 [266
250 [4—7 § ¥ CH:0CSH.OH 5 2 CHL0 5 28
251 & f® CH:COOCH: 200(606 CLfREAER Cullis(NCO): 0.005 |0.045
252 | i CHC=CH 1,000(1, 640 2—BFi AL (CH:)-CHOCH. CHOH 25 |106
253 | BT o CH:=CHCOOCH: 10[35 BTN CH:COOCH(CH: ): 250 |1040
254 |7 A7 % CH:=C(CHs)CN 12.7 B 5o (CH:)-CHNH: 5 12
255(= 7§ 7% CH:0CH:OCH: 1,0003, 110 B (CHs):CHOH 400|983
256 | 7 fit CHOH 200(262 Bp g CoH:NHCH(CH:): 2 11
257 | @ CHNE 10[13 B p oA (CH»)-CHOCH(CH: )2 250 |1040
258 |7 A1 A CH(CH2)«COCHs 50(233 B A%KH B R CH(CH:)-0CH:CHCH:0 50 [238
259 [N— 7 ¥ CoH:NHCH; 0.5[2.2 © % i H.C=C=0 0.5 [0.86
260 |67 %2 CH:Br 5/19 B3 P RS L (g Pb 0.05
261 |7 A1 CH:COCH, 5(20 g Pbi(As0.): 0.15
262 % 7 = CHCL 50{103 By (11435) PbCr0: 0.05
263 [2—§ A7 T fa CH.=C(CN)COOCH: 209.1 e CHCLs

264 |7 ke & CHCoH. 400{1, 610 %R 0.2
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265 |7 Ak : 7 CH:C:HiOH 50(234 i % F LPG Cnllne(N=2-4) 1000|1800
266 |7 3% = 7 CH:C:HCO 50(229 it Lill 0.025
267|7 A% A Gz R BEOUEF) CH:CHMn(CO)s 0.2 Pk (- 5l CalliNs

268(3,3 -= & -4,4 AT % |CuluCLN 0.02/0.218 § o gECEE) Nig0 10
269[4,4-- B fp- ¥ OCNCiH.CH.CHNCO 0.02/0. 2 5 CollOPS: 10
270 |~ fr CH:COC:H; 200(590 g — 7 = (CHCO):0 0.25 |1
271 85 = ColliOs 0.2[1.5 40 T (e Mn 1
272 |7 f® g HCOOCH: 100|246 B2 R EF OIS Mn 5
273 |7 gz CH:NHNH: 0.2[0. 38 ITEETS O VAP CHMn(CO)s 0.1
274 [ 7 = CILI 2|12 Ao FFAAM LS Hig 0.05
275 (7 A8 A7 CH:COCH.CH(CH: ) 50(234 A L Hg 0.01
276 [4— 7 % —2— A (CH»)-CHCH.CH(CH:)OH 25(104 LRF AR (CH»)-C=CHCOCHs 15 |60
207 (" A8~ CH:COCH(CHy )2 50(205 TR CH.=C(CH:)COOH 20 |70
278 |2 § A7 g CH:NCO 0.02/0.05 4-7 5 5@ CH:OCH.OH 5
279 (" A B[ CH:COCH(CHy )2 200{705 B LED CH:COOCH; 200|606
280 | Fops H:CSH 10[20 i CHC=CH 1000|1640
281 | A AT C:H:COOCH: 100410 F AT CH.=CHCOOCH: 10 |35
282 |7 & (CH:0):P($)0CHNO: 0.2 R CH:=C(CH:)CN 1 2.7
283 |7 7 i CH(CH2):COCHs 200{705 ER LR CH:OCH:OCH 1000|3110
284 (7 A%z 0 A (CH»):COCH: 40|144 o CH:OH 200|262
285|a-7" g ¥ CoH:C(CH:)=CHe 50(242 v a CH:NH. 10 |13
2862+ 7 3 PAR AR CH:(CH2).COCH; 50 [233
287 |48+ 7 BT £ (k) Mo 5 N-—© ¥z CoH:NHCH; 0.5 [2.2
288 |78 o CHONH 20|71 AL CH:Br 5 19
289 | 7 i 4k (44 %) CoHls~Csfo 100400 vARCR CH:COCHs 5 20
290 |5 Culls 10[52 PR CHCL 50 [103
201 |44 0 TRt g (18E3) Ni 0.1 2§ AP MY fa CH.=C(CN)COOCH: 2 9.1
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202 [ 2 it 44 Ni(CO)s 0.001(0. 007 T AT CHCiHl 400 |1610
293 |76 (R =7 ) CHNCHNCH; 0.5 " A% CH.CoHoOH 50 [234
294 |7 e HNO: 2/5.2 LEE T CH.CH:CO 50 |229
295 |- § it § NO 25(31 TOATR A G2 AR CHCHMn(CO)s 0.2
296 |4+ 5 ¥ e NO:CoH:NH: 3 3,8 - F-4 4 -ompFev CiHlCLN: 0.02 0.218
297 |7 % ¥ CiHNO: 1|5 4 4-ZBfpH-¥" % OCNCAH.CH-C:H:NCO 0.02 0.2
208 [$t— A A F ¥ CHCL(NO.) 1 o CH:COCAH; 200|590
299 |4t e 2 CH:CH:NO: 100(307 Hi CoHliOs 0.2 |15
300|-F 4 NO: & N0 5|9 LR LEA HCOOCH; 100|246
301 |= & i § NFs 10[29 LE SN CH:NHNE 0.2 [0.38
302 |4 it 4 b CH:(ONO.)s 0.2[2 @O CHL 2 12
303 | ke - (CH:ONO:): 0.02/0. 12 T AR AR CH:COC:H.CH(CH: - 50 |234
304 |5 @ CH:NO: 100|250 4—" h—2— A (CHy):CHCH.CH(CH:)OH 25 |10
305 |1-#) 5 42 CH.CHCHNO: 25(91 " AR CH:COCH(CHs ) 50 [205
306 |2-5) 5 42 CH.CHNOCH: 10(36 BERT A CHNCO 0.02 0.05
07| AT ¥ NOCH.CH: 2|11 "ABG CH:COCH(CHs ) 200|705
308|-F - § N:0 50{90 v R H:CSH 10 |20
309 |3 (5 2 #4) Cillo 200(1, 050 L CaH:COOCH: 100|410
30|~ & % CuCls 0.1 " AT P (CH0):P(S)OCHNO. 0.2
311 (%% Cils 300(1, 400 O CH:(CH2):COCH; 200|705
312 | % F (A 1) 5 S EREt (CHy):COCH; 0 |14
313 [w it gk (r1gk3) 0501 0. 0002[0. 0016 a-" B¥e CoH:C(CH:)=CHe 50 |242
314 |5 (COOH):. 2H:0 1 247 3
315|% 5 OF: 0.05(0. 11 40 AR S (1 4p3E) Mo 5
316|%§ 0s 0.1[0.2 5 o CHONH 20 |71
317 |7 > EE 2 T AR CH~Ceffo 100|400
318 | = 42 CelluNCle or CiHluNe(CH:SO0: 0.1 5 Culls 10 |52
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319|" £ (C:H:0):PSOCHNO: 0.1 a—F= CuoH:NH:

320 |7 Pz BeHlo 0.0050. 013 B—%= Cuoll:NH:

21|75 % Cull:C15 0.5 80 EBEARP S H () Ni 1
3|7 FpzrEHD CCL:0H 0.5 o T RN EF () Ni 0.1
323 | Nz CHs(CH2)CH 6001, 770 Py Ni(C0s 0.001 {0.007
324 | & v pri C1SCCls 0.1[0.76 g (rg o C:HNC/H:NCH; 0.5
325 |\ ¥ ph i CIFO 3|13 Py HNOs 2 5.2
326 |75 Cell:0H 519 -§§ NO 25 31
327 |4 £k CillaNS 5 SR A o NO:CsHiNH: 3
328 |t — ¥ - = Colla(NH): 0.1 A CoH:NO: 1 5
329 | ¥ @ FF (Gl )20 1|7 Ry CeHiC1(NO2) 1
330 | ¥ 50k 4 o p CollsOCH-CHCH:0 106.1 A-—AAmys A @y H(Csla): NO:

331 | ¥ CoHsNHNH: 522 Ao CH:CH:NO: 100 {307
332 | ¥ Fuph CollsSH 0.52.3 S§iE NO: & N:O: 5 9
333 | ¥ CoHlsPH: 0.050. 23 ZEF NFs 10 29
334 |4m7h (C2H50):P(S)SCH:SC:Hs 0.05 A CsHs(ONO:)s 0.2 |2
335 (% © (CH:0):P(0)0C(CHs)=CHCOOCHs 0.010. 092 e - (CH:0NO»): 0.02 0.12
336 | % # C0C1e 0.1]0.4 PR CH:NO: 100|250
337 | & PH; 0.3]0.4 1-#p % CH:CHCH:NO: 25 91
338 Bk H:POs 1 o2& % CH:CHNO:CH; 10 36
339 | % &% P 0.1 AT ¥ NO:CH:CH; 2 11
340 |5 & & POCLs 0.1[0.63 S N0 50 90
341 |7 & & PCl;s 1 %05 R Collo 200 |1050
342 |7 &R B P:Ss 1 ~EF CiCls 0.1
43|z & &4 PCls 0.2[1.1 3% Colls 300 |1400
344 |m¥ = v e CHi(C0):0 1(6.1 # i (F L) 5
345 |- # ¥ CoHi(CN): 5 w§ gk (14K 050 0. 0002 |0. 0016
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346 |2 vkt CoH2(OH) (NO2)s 0.1 ¥ (COOH):. 2H:0 1
7|1, 4-= F ke - ApD CalloNe- 21C1 5 iy OF: 0.05 {0.11
348 |40 & B (1 4a3t) Pt 1 R ) 0s 0.1 0.2
349 40 > VAR (1143) Pt 0.002 7 A 2
350 (% # =% CiHaowCla (1=n=10) 0.01 = g CizHiaNeCl2 or CizHiN2(CHsSO0x)2 0.1
351 |/ = CH:CH:CH 1,000{1, 800 s (C:H;0):PSOCHNO: 0.1
352 |f e CH;CH:COOH 10{30 IR BsHs 0.005 [0.013
353 [1— 7 /i CH;CH:CH:0H 200(491 IF% CullsCls 0.5
354 |2 i fLe fiy CH;CO0CsHr 200(835 TEpEZEHB CsC150H 0.5
355 |# L fin CoHNOs 25(107 R CH; (CHe)sCHs 600  [1770
356 |3 = f5 = A LA, NOsCH:CHNO:CHs 0. 05(0. 34 HE L Ot CISCCls 0.1 [0.76
357 |F = /% " A CH;O0CH-CHOHCH; 100|369 B LA CIFOs 3 13
358 | Y I CHsHCNHCH: 214.7 i CoH>:0H 5 19
359 |4 AW 5 R R CellNS 5
360 |#r CsHsN 516 H—F-= CoHi(NHz): 0.1
361 (= CoH402 0.1]0. 44 Fex CollsCalls 100 434
362 |FE-m (FH3) CoHs(OH): 10]45 TR EF (CiHs):0 1 7
363 | (143 ) & BT 2 2312 &4 |Rh 0.1 ¥ Ak W m Col:0CH:CHCH:0 1 6.1
364 [ (4T R S 4 Rh 0.01 i CoH;NHNH. 5 22
365 | 4 4+ Castla:0s 5 Eg ot Coll:SH 0.5 (2.3
366 |/ it &40 (At Se 0.2 ¥ CollsPH: 0.05 (0.23
367 |+ 4 it SeFs 0.05(0. 16 LEETRES (C:H50):P(S)SCH:SC:Hs 0.05
368 |z & i & SiH 5/6.6 i (CH:0):P(0)0C(CHs)=CHCOOCHs 0.01 {0.092
09|42 £/ ~2F BB ES (R £ F COCl2 0.1 0.4
Ag 0.01

) B PH; 0.3 [0.4
370 |4 § 1 4 NaNs 0.11(0. 29 Bk ;PO 1
371 |G Fifit & 4 NalS0s 5 ¥ B P 0.1
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372 | o pedp FCH.COONa 0.05 Pyt POCIs 0.1 [0.63
373 | § 4 NaOH 2 ERERTy-t PCls 1
374 | & 4 Sbl: 0.1[0.51 E@ ATyt P:Ss 1
375 #5546 7 A 100525 By PCls 0.2 |11
376 |- § ax S0: 2/5.2 el CiHi(C0):0 1 6.1
377 |+ & 4% SFs 1,000(5, 970 3 CoHli(CN): 5
378 |- & 15 SCle 15.5 Eekpk CoHlz(OH) (NO)s 0.1
379 e H.S0x 1 SEEtAg CaHN:. 2HCI 5
380 |7 & i 7 SFuo 0.01{0.1 s (g3 & Pt 1
381 = & i 5% SF 0.1(0. 44 b T BB (A Pt 0. 002
382 |4 i Ak SO.F 5/21 &Y 0.01
383 |H 7 (F 5 2 awEA) Mgs[Si 0] (OH): 2 B CH:CHCH: 1000|1800
384 [k 0 £BEF LR Ta 5 AR CH:CHCOOH 10 |30
385 |2 1 &g (riEE Te 0.1 1-fp CH:CH.CH.OH 200|491
386 |4 (CH0)iP-0: 0. 004/0. 047 B—f Mg (CH:)C0

387 |m= ¥ (CoH):Cofl 0.53/5 TAMe CH:COOC:Hr 200 (835
388[1,1,1,2—2 § —2,2—- £ ¢ CCLLCCIF: 500(4, 170 AR CHNOs 25  [107
389(1,1,2,2—2 & —1,2—- £ ¢ % CCLFCCLF 500(4, 170 A b AR NO:CH.CHNO:CHs 0.05 [0.34
390(1,1,2,2— = & ¢ %= CHCI:CHCI. 16.9 AT CH:OCH.CHOHCH, 100 (369
391 |e & % CultiC1 2 P I CH:HCNHCH. 2 4.7
392 |m o by Pb(CHs)s 0.075 fAT 5
393 [ 7 fgn (14n) Pb(CH: ) 0.075 o CHN 5 16
394 v & v (CH):0 200(590 i CoH0: 0.1 0.4
395 |= @ Ak NCC(CHs):C(CH: )CN 0.5(28 R¥-mp (37%) CiH(OH): 10 |45
396w A 7 2 CNO2) 118 BT R BRI E BB Rh 0.1
397 | ERbpE e 4 NaiP-0: 5 BT R L f Rh 0.01
398 o Frphpc HSCHCOOH 1/3.8 IXT Cotl 5
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399 | # L mifie SOC1: mi &y () Se 0.2
400 |# & [ (CH)2NCS]:S: - & SeFs 0.05 [0.16
401 |82 F gy i &4 (UE) Sn g Sills 5 6.6
402 |83 81 £ 4 (ugF) Sn 8K FTRB AR () Ag 0.01
403 |§ & (1 473) Sn g oig NaNs 0.11 {0.29
404 |- §F 4% Ti0: LRk E A NaHS0s 5
405 (AR — 7 F CHsCsHiNH2 i o pagp FCH:COONa 0.05
406 [ — 7 ¥ CHsCsH:iNHz IS NaOH 2
407 |$— 7 = CHsCsHiNHz i SbHs 0.1 0.51
408 (2,4—=- B F T ¥ 26— BF R LI N 100 525
CH;CsHa(NCO)-
vy Fef CH:=CHC:lls 50 213

409 [F ¥ 5 CioHioCls g ALY ot S0: 2 5.2
410 |Bps = 7 fig (CiHs)sPO: = & YR SFs 1000 15970
4l |z 52 CC1:CO0H - F SCls 1 5.5
41211, 2,4—=2 % ¥ CeH:Cls Frph H=S04 1
41311, 1, 1—= F ¢ = CHsCCls EgF SLp SeF1o 0.01 (0.1
4141, 1,2—=z % ¢ = C1:CHCH:C1 v & Y SF4 0.1 0.44
415|= & ¥ CiollsCls ENELD ¥ SO:F 5 21
416 (1,2, 3—= & p = C1CH:CHC1CH-C1 FE (2GR R) Mgs[ Si4010](OH): 2
N701,1,2—2 § —1,2,2— CC1.FCCIF: b EREF P A Ta 5
418|= ¢ = (CH )N Frx 8 £ 5 (R Te 0.1
419z 4 4.7 = CBrFs L 3 (C2H50)4P201 0.004 |(0.047
420 (1,2, 4— ik ¥ = ™ CoH40s Wz F (CoHs)2CsHa 0.53 |5
421 |= @ = (CHs):N 1>1°1°2-2%—-2>2—-3

CC1sCCLF> 500 4170
422|z @ ¥ (CHs)oColls 2
423 | AL = T fi (CH:0)sP 112 2-24—-1>2—2-14

CC1:FCCL-F 500 4170
42412,4,6—= A" F CH;CoHz(NO2)s =
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425 | = 85 9 F ABERL CallziOP 0.1 112 2-w4e CHC1:CHC1. 1 6.9
426 |= F A= (CsHs)sN 5 L M CCl=CCl. 50 339
427 | Bt = ¥ g (CoHl:)sPOs 3 v §E CulliC1 2
428 |48 > 2p kit 2 (10dE) W 5 w2 g Pb(CeHs)1 0.075
429 |8 > T B8 () W 1 v A A (E) Pb(CHs)s 0.075
430 4> &0 CuoHis 100|556 T & rkem (CH2)40 200 590
431 |4 > Fp i B () U 0.2 2 7 A gkIn NCC(CHs):C(CHs):CN 0.5 28
432 [ > 2Rt &5 (Uahh) U 0.2 AT C(NO2)1 1 8
433 | ‘P CHs(CHz)3CHO 501176 &R A NaP:0r 5
434 |7 F 1 = 4p A V:0s 0.5 T R AL HSCH-COOH 1 3.8
435|7 § i - YT V205 0.1 F LA SOCl 1 4.9
436 |zt 2 4 fin CH:COOCH=CH 10{35 [EE [ (CHs)2NCS]:S: 5
437 |2 CH=CHBr 522 B2 EE L) Sn 2
438 |- F kR o CH:CHOCHs0 10/57 it b (g) Sn 0.1
439 AT F CHe=CHCH:CH: 100{482 () Sn 2
440 (A< & & CisHi601 0.1 B TiO: 10
441 |~ 4 5 A " AT Fe2 H @ (CHsCsHaNH )
4421z 7 = (CHs)2CsHsNHe 2|10 AR — B e CH:CsHiNH2 5 22
44342 > £ i &5 (11det) Y 1 B —9 Fie CHsCsHNHz 2 8.8
444 1% v &> (ET) ZnCl: 1 H—0 ¥ CHsCsHNHz 2 8.8
445 | padr (g ZnCrOs 0.05 i3 CoHsCHs 100  [376
446 |5 8 (CR'T) Zn0 5 204 - B BT FR2 06— B F R
, CH:CsHs(NCO)- 0.005 |0.036
MT|8EF (i) Ir 5 i3
F T CioHiCls 0.5
L= 7 (CiHo):PO: 0.2 (2.2
ZEHECR CC1:CO0H 1 6.7
1°2°4—=2%% CollsCls 5 37




11 1—=z%e= CHsCCls 350 1910
1°1°2—=z4%¢e= C1.CHCHCl 10 55
Z&t% CHC1=CC1. 50 269
ER R IC WD) CHCls 10 49
ZF % CioHsCls 5
123—z4p= CLCH:CHC1CH:C1 50 302
1°1°2—-2%—-1>2>2—=z4%
N CC1:FCCIF- 1000|7670
At (CaH>)N 10 41
Z AT CBrFs 1000 16090
12 4— k%= CoHi0s 0.005 |(0.04
R S (CHs)aN 10 24
=3 (CHs)sCslls 25 123
LRHEZ T iy (CH:0):P 2 10
24> 6—zA#"¥ CH:Coll:(NO2)s 0.5
ZOARY A PR CaH210P 0.1
= F AR (CeHs)sN 5
i (CsHs)3POs 3
o B g (U W 5
o TR EF (U W 1
s — 100|556
CioHis
B TR s (i) U .0.2
Gho LBl £ 5 (rght) U 0.2
N CHs(CHz):CHO 50 176
EaE TR LI o oy V205 0.5
ElE TR 2 R V205 0.1




fib ke 9 fia CH:CO0CH=CHz 10 35
e 9 CH:=CHBr 5 22
ZF MR e CH:CHOC:H:0 10 57
r S CH:=CHCH.CHS 100|482
R G Ciolls0s 0.1
*# 5
- vy

CoHi(CHs): 100|434
(F M, B> $34)
- vz (CHs):CoH:NH: 2 10
deo 2 B Ly (11de3t) Y 1
§Five o (BE) InCl» 1
gepidy (VBT ZnCr0 0.05
jFirs (D) Zn0 5
i L (st Ir 5
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